KENDRIYA VIDYALAYA DAPORIJO
SUMMER HOLIDAY HOMEWORK 2023-24

- o CLASS -8

SUBJECT SUMMER HOLIDAY HOMEWORK

1. Find out new words’ meaning from dictionary (at least 20 words from each
taught chapters), learn it and write in your English notebook.

2. Learn question-answers of following chapters-

i) The best Christmas present in the world.
ENGLISH ii) How the camel got his hump
iii)  Children at work.

3. Write a formal letter to the Principal for 3days illness leave.

4. Write a paragraph on Arunachal Pradesh in your own words. (150-200 words)
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1. Find the solution of 3x+5 = 1

2x+1 3
x+6+ x-3 5x-4

2. Find the solution of
5 8

3. Solve: %+%=x—7

2 7

4. Solve: —x+1=—
olve: Zx -

s. Solve:£+2=_—3
3 2 2

6. Solve: %- 7x=9

7. Solve:x= %(x +10)

8 Sotve: Z 41

9. Solve: 2_\-+2=.__)v
3 3
10. Solve: 3m - 5 --g

11. Solve: S.r+1 =2.\'—l4
2 2

12.The perimeter of a rectangular swimming pool is 154 m. Its length is 2 m more than
twice its breadth. What are the length and the breadth of the pool?

13. The base of an isosceles triangle is % cm. The perimeter of the triangle is 4% cm.

What is the length of either of the remaining equal sides?
14. Sum of two numbers is 95. If one exceeds the other by 15, find the numbers.
15. Two numbers are in the ratio 5:3. If they differ by 18, what are the numbers?
16. Three consecutive integers add up to 51. What are these integers?
17. The sum of three consecutive multiples of 8 is 888. Find the multiples.

18. Three consecutive integers are such that when they are taken in increasing order and multiplied
by 2, 3 and 4 respectively, they add up to 74. Find these numbers.

19. The ages of Rahul and Haroon are in the ratio 5:7. Four years later the sum of their ages will be
56 years. What are their present ages?

20. The number of boys and girls in a class are in the ratio 7:5. The number of boys is 8 more than
the number of girls. What is the total class strength?




21. Fifteen years from now Ravi's age will be four times his present age. What is Ravi's present
age?

22. A rational number is such that when you multiply it by % and add % to the product, you

get —%. What is the number?

23. Lakshmi is a cashier in a bank. She has currency notes of denominations Rs 100, Rs 50 and Rs
10, respectively. The ratio of the number of these notes is 2:3:5. The total cash with Lakshmi is
Rs 4,00,000. How many notes of each denomination does she have?

24. 1 have a total of Rs 300 in coins of denomination Re 1, Rs 2 and Rs 5. The number of Rs 2 coins
is 3 times the number of Rs 5 coins. The total number of coins is 160. How many coins of each
denomination are with me?

25. The organisers of an essay competition decide that a winner in the competition gets a prize of Rs
100 and a participant who does not win gets a prize of Rs 25. The total prize money distributed is
Rs 3,000. Find the number of winners, if the total number of participants is 63.

26. Deveshi has a total of Rs 590 as currency notes in the denominations of Rs 50, Rs 20 and Rs 10.
The ratio of the number of Rs 50 notes and Rs 20 notes is 3:5. If she has a total of 25 notes, how
many notes of each denomination she has?

6x+1
3

x-3
27. Solve: +1= T

28. Solve: Sx—-2(2x-7)=23x-1)+ %

3.r—2_2x+3 2

==-x

4 3 3

342 Ax+D) 2,
7 5 3

29. Solve:

30. Solve:

31. Solve: x———=1-

32.Solve: ———+—=21

33.Solve: X+7——=———

34. Solve: =—

35. Solve; ——=—

SCIENCE

MDP (Multi-Disciplinary Project
Topic: WATER
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Draw a drop of water.

Essay on water.

Write the sources of water in the ancient time.
Importance of water.

How many percentages of water on the earth?
How to control water pollution?
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Write preamble of constitution on chart paper
Fundamental rights prepare on chart.

Types of resources through concept map.
Write about ‘Battle of Plassey’

Write about “Tipu Sultan — Tiger of Mysore”.




